CP-Violation Discovery Contours — LAr (cons) — 1.0 x 10%

180 L=1900
04—
05 ——
i 06 -
90 0y .
5 0F
-90 -
-180
5
180 ' ' ' L=1900
9 |
5 0F
_90 -
-180 ' ' '
5 -4 -3 -2 -1
log(sin26 5)
180 . . . L=1900
19 —
20 ——
i 121
90 57
5 0F N
.90 _
-180 ! ! '
5 -4 -3 -2 -1
log(sin®26, 3)

P. Ballett and S.

Pascoli (2011)

-180

180

90

Baseline: L = 1900 km

180 T T T L=1900
08 —
09 —
L 10 ----
90 11 -
o) 0 r —
.90 |
-180
-5
180 T T T

| |
5 -4 -3 -2 1
log(sin®26, 5)
' ' ' L=1900
23—
24 —
i 125 —--
C
-5 -4 -3 -2 -1
log(sin?26 5)

http://www.ippp.dur.ac.uk/"ballett/LENF



